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SRI RAMAJAYAM GLOBAL SENIOR SECONDARY CBSE SCHOOL 
REVISION EXAM – 1 (SET-1) 

STD: XII           MAXIMUM MARKS: 35     

SUBJECT: COMPUTER SCIENCE (083)      TIME: 2 HOURS 

 
General Instructions: 

 The question paper is divided into 3 sections – A, B and C 
 Section A, consists of 7 questions (1-7). Each question carries 2 marks. 
 Section B, consists of 3 questions (8-10). Each question carries 3 marks. 
 Section C, consists of 3 questions (11-13). Each question carries 4 marks. 
 Internal choices have been given for question numbers 7 and 12. 

 
 

  Section -A 
Each question carries 2 marks 

 

Q. 
No 

Part 
No. Question Marks 

1. (i) Define any two operations in STACKS?  (1) 

 (ii)   Define the term OVERFLOW in STACKS?  (1) 

2. (i) Expand the following: 

a) ARPANET  

b) VoIP  

(1) 

 
(ii)   What is NIC? Give other name of NIC.  (1) 

 

3.  Differentiate between char(n) and varchar(n) data types with respect to 
databases. 

(2) 

4.  A resultset is extracted from the database using the cursor object (that has 
been already created) by giving the following statement. 

 
Mydata=cursor.fetchall() 

 
(a) How many records will be returned by fetchall()  method? 
(b) What will be the datatype of Mydata object after the given 

command is executed? 

(2) 
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Write the output of the queries (a) to (d) based on the table, 
Furniture given below: 

Table: Student 

  
 

a) SELECT * FROM Student WHERE Grade = 'B' ;  

b) SELECT MAX( Marks) FROM Student;  

c) SELECT Name, Marks FROM Student WHERE Subject IN 
(‘English’, ‘Science’)  
 

d) SELECT RollNo, Subject FROM Student WHERE Marks>= 85;  
 
 

(2) 

 
6. 

  
What is the use of wildcard? What are the types? Explain. 
 

(or) 
 
KV is making the data base of students for that data is stored in list stack form 
but the code is not complete , complete the code as per your knowledge and 
make the software run:  
 

std=[ ]  
def push(std):  
n=int(input("name of student"))  
r=int(input("rollnoof student"))  
c=int(input("class"))  
__________________ #statement 1  
std.append(temp)  

def pop(std):  
______________ # statement 2  
print("No Record")  
else:  
print("Deleted Record is :", std.pop())  
 

 (i) Write code for statement 1  
(ii)Write code for statement 2 
 

(2) 
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 SECTION – B 
Each question carries 3 marks 

 

8.   
a) What is Data Structure?  
b) A STACK is a linear structure implemented in ………… manner?  
c) Write any two application of STACK?  

 

 
(1) 
(1) 
(1) 

9. (i) A table, ITEM has been created in a database with the following fields: 
ITEMCODE, ITEMNAME, QTY, PRICE 

 
Give the SQL command to add a new field, DISCOUNT (of type Integer) to 
the ITEM table. 

(1) 

(ii) A Stationary Store is considering maintaining their inventory using SQL to 
store the data. As a database administer, Rajan has decided that:  
 
Name of the table - INVENTORY  
The attributes of INVENTORY are as follows:  
ItemNo - numeric  
ItemName - character of size 20  
Scode - numeric  
Quantity – numeric  
 
Write SQl query to create the above mentioned table. 

(2) 

 
7. (i) 

Consider the table, CLUB  given below: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

What will be the degree and cardinality of table? 
 

(1) 

(ii) 
You have a table “company” having column cno, cname, department and 
salary.  
Write SQL statement to display average salary of each department.  
 

(1) 
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10. 

  

 A relation Vehicles is given below :  
  
 
 
 
 
 
 
 
 
 
 
 

a) Display the average price of each type of vehicle having quantity more 
than 20.  

b) Count the type of vehicles manufactured by each company.  
c) Display the total price of all the types of vehicles.  

 

(3) 

  Section C 
Each question carries 4 marks 

 

 
11. 

 ABC Organization has set up its new centre at Mangalore for its office and 
web based activities. It has four buildings as given below 

 
1. Suggest the most appropriate topology for the connections between the 
blocks.  
2. The company wants internet accessibility in all the blocks. The suitable 
and cost-effective technology for that would be.  
3. Which one of the following devices will you suggest for connecting all 
the computers with in each of their blocks? (i) Hub/Switch (ii)Repeater  
4. The company is planning to link its head office situated in New Delhi 
with the offices in hilly areas. Suggest a way to connect it economically:  

 

(4) 
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12. (i) Give two advantages and two disadvantages of star topology 
 

OR 
 
Define the following terms: 
www , web hosting 

(2) 

 (ii) How is packet switching different from circuit switching? 
(2) 

13.   
Write SQL commands for the queries given below on a table LIBRARY 
showing the details of Books :  

Table: LIBRARY  

 
 

i. Display the title of all books with Price in the range 100 to 300.  

ii. Display the Author of all the books whose title starts with “D “  

iii. Arrange all the books of library in increasing order of their quantity.  

iv. Display the detail of book written by “ RobortLafore” .  

 

(4) 

 


